01859102 HANSAMIX - Parte exterior griferia ducha

EAN: 4015474642577
static.hansa.com/01859102

Piezas de repuesto
SP01859102
Nombre Codigo
1 Maneta Blanco 5990188282
1 Maneta, (-2004) Cromado 59901882
3 11 Screw, M5x8, SW2.5 59904755
12 Juego junta 59904778
13 Enchufe, hot/cold 59906705
2 Capuchon Cromado 59904820
25 Junta de goma 59912232
5 Inversor Blanco 59910901
s 7 Brida de la tapa Cromado 59910662
71 Screw, M5x65 Cromado 59904847
71 Screw, M5x65 Blanco 59906672
71 Screw, M5x65 Oro - JIHERNEIEIRES) 59904849

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024


https://static.hansa.com/01859102

